HERR |[A|% FRAE H#HEGE D) |AEREF) [T LVRBEAERGR) [ VR E AR
2016/11/7[Fr NBR(F{A-#iRS V5 )LR) [10106] LLIER B 1 1 10 4
2016/10/27 |3 ANER(E K- iRV J JLR) [1020R LRI 1 1 16 13
2016/11/8|F ABE(FA{A - #iRS > 5 JLR) 1030 ILXRF 1 0 11 1
2016/11/15|3F AB(HI{A- IR 2T JILR) 1040 LL3F R 1 1 14 12
2016/11/11 |37 AB(H R -2k > F JLR) 1050/ 1L—&= 1 1 9 3
2016/11/4[F NBR(FA - #iRS > F )L R) |10606] LR 1 1 9 7
2016/10/25| %7 NER(F{A- 2R 2 J JLR) (10700 (LIES 1 1 9 15
2016/11/8[FT NBR(F{A - # RS > F)LR) [10800 L1 T 3 1 0 11 0
2016/11/8|Fr ABE(FA{A - #iRS > 5 JLR) 10905k LU T 2 1 0 12 0

2016/11/1|Fr ABR(FA{R- 2R > 5 JLR) [1100k] LL#HE 1 0
2016/11/8|Fr ABR(FA - IR > U JLR) [1110BHF 1 0 0 0
2016/11/8[FT ABK(F{A-ZERS VT ILR) (11205 F 0 1 0 0
2016/11/2[F NER(F{A -2k VT JLR) [1130FEE 0 1 0 0
2016/11/8|#r ABR(FA{R- 2R > FJLR) [1140BHEHF IR 1 0 5 1
2016/11/14| 3 ANB(FA EIRS 20 )LR) (1150 XHE 1 0 5 0
2016/11/8|# ABR(FA{A-EiR > 5 JLR) (11606 LR 1 1 6 7
2016/11/8[F ABR(F{A-#IRS VT ILR) [170M KM= 1 1 5 2
2016/11/8|F ABR(FA{K-EIRT T ILR) [1180EREIR 0 0 4 0
2016/10/25 |37 AB(HR-2EIRS 2T ILR) 12208175 H 0 0 0 0
2016/10/24 |37 AB(HI{A-#IR 2V ILR) [123072 F 4R 1 1 9 3
2016/11/11 |3 AB(FR-ERS 2T ILR) (201085 1 1 12 6
2016/11/7|Fr ABR(FA{R-EiRS T ILR) [2020EFF 3L 1 0 12 0
2016/11/4[F NEL(F{A -2k VT JLR) |2030E % 1 1 8 5
2016/11/10| 37 ABR(F{AR-ZIRI VT ILR) [2040FE BFps 1 0 14 0
2016/11/7|FR ABR(FA - IR 2 U JLR) |2050 8 2 EH 1 0 5 1
2016/11/8|F ABE(FA{A -2k > FJLR) [3010F8KF 1 1 4 7
2016/10/18[ I AB(FIfA - FIR T JLR) [3020FEF 1 0 8 0
2016/11/9|Fr ABE(FA{A- 2R > 5 JLR) [3030FEF F 1 0 6 0
2016/11/11[FFAB(F - FHRT T ILR) [3050F1KEEE 0 0 2 0
2016/11/1|Fr ABE(FA{R- 2R > 5 JLR) [3060{E Ik 0 0 9 2
2016/11/10(#F AB(F{R-2EIRS > J JLR) [3070RE LIE 1 0 6 0
2016/11/1|Fr ABE(FA{R- 2R > 5 JLR) [3080RE L H[E 1 1 9 5
2016/11/9[F ABR(R{R - ZE iR 2T ILR) (40108 B EFRE 1 1 18 6
2016/11/4| 3T ABR(HIIR - BT ILR) [4020& BRIk 1 1 7 6
2016/11/9[F NER(F{A - #EIRS 2T JLR) |40302 Bm 1 1 1 2
2016/11/8|F AB(FAIA - #iRS > F JLR) (40408 B bikith 1 1 8 7
2016/11/9|Fr ABE(FA{A-#EiRS 2T JLR) (40502 B 3 1 1 4 8
2016/11/14 37 ABR(F{R-EIRS VT JLR) [4060EEXT 3% 1 0 0 0
2016/11/8[F NBR(F{A - EIRS VT ILR) |4070K B T3 1 0 30 0
2016/11/9|Fr ABE(FA{K- 2R > JLR) (40802 Bich &t 0 1 0 9
2016/11/9|F ABE(FA{A -2k 2T JLR) (40902 B2 i\ 1 0 7 3
2016/11/4|F ABR(HIA - EIR> > T ILR) (410088 1 0 10 2
2016/11/22| 3 AR ZEIRS 2V ILR) [4110FDEF 0 0 0 0
2016/11/9[F NER(F{A - #iRS > FJLR) |501088%t 1 1 9 4
2016/11/7[F NB(F{A - ZEIRS 2T JLR) |5020881t 1 1 8 4
2016/11/22| %7 ABR(F{R-E1RS VT ILR) [5030S5 2% 1 1 10 4
2016/11/8[FT NER(F (& - #ixI T ILR) (50405 2 1 0 9 0
2016/11/10( %7 ABR(H{R-EIRS 2 J ILR) |5050% R IE 1 1 1 1
2016/11/9[F ABR(F{A - EIRS 2T )LR) |5060%1 R 1 0 6 3
2016/11/9|Fr ABE(FA{A- 2R VT )LR) [6010EE 1 0 18 1
2016/10/27 (3 ABR(HI{A-EIRS 2 F ILR) [6020EEFEE 0 1 3 12
2016/11/9[F NER(F{A-EiRS > FJLR) |6030%5H 1 1 11 6
2016/11/7[FT NER(F & - FiRS T ILR) 604057 [ 3 1 1 8 5
2016/10/24 (%7 ABR(F{R-E1RS > J JLR) [60505% [ T3 1 0 10 0
2016/10/26 | T NER(FH{A - 2452 U JLR) [6060F/F 1 0 8 2
2016/11/2| 3 ABE(FA{A - 2R > FJLR) [6070K$h 1 0 1 3
2016/11/9|Fr ABE(FA{A - #iRS 2T JLR) (6090 F 2 1 1 6 5
2016/11/14|#F ABR(F{AR-E1RS > J JLR) 6100k ILBEL 0 0 0 0
2016/11/8[F ANB(F{A - #RS VTV R) |611083EEE 1 0 3 0
2016/11/9|Fr ABE(FA{A- 2R > T ILR) [612085 D 0FE LS 1 0 8 3
2016/11/12| 37 AB(HIA- IR 2T JLR) [7010:2 1L 1 1 0 0
2016/8/1| 3 ABR(HI{AEIRS > J )LR) |7020;F I 0 0 0 0
2016/11/4[FT ANBR(FA - #iRS VT ILR) [7030;2 1L T % 1 0 10 2
2016/11/7|Fr ABR(FAIA - 23R > F JLR) |70408% L 1 1 9 3
2016/11/8[FT NB(H{A - #RS 2T )LR) |1050E 5 1 1 7 7
2016/11/22| 3 NB(F{A &R 25 )LR) (708055 H 0 0 2 2
2016/11/9[FT ABR(HA-EIRS VT ILR) [70904kEF 1 0 5 3
2016/11/9|Fr ABR(FA{A - 2R 2 F JLR) |7100;Z LE 1 0 4 0
2016/11/10( 37 AB(HI{A-BIRS T ILR) [T110E4E 1 1 2 9
2016/11/9|FT ABR(HIIR - IR VT ILR) (71302 ILEEH 1 1 11 5
58 34 504 221




